Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

[N
[4)]

2yMass (GeVp

[
D
T

0.13F

PR SR SR NN SRR SR S NN SR SR SR N S S
0'120 200 400 600

Channel Number

Pi0 Mass vs. Channel Number (Iteration0)

100 200 300 400 500 600 700
Channel Number

=
6]

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4

- BLUE)

o

2yWidth (GeVR

0.005

b L Ll

0 200 400 600
Channel Number

Pi0 Mass (lterationQ)
x10° Entries 1.788864e+09
X / nd.523e+04 / 165
Prob 0
po 4.958e+06
pl 0.1346
p2 0.007932
p3 2.753e+06
p4 0.01557
p5 -1.43e+08
p6 3.838e+07
p7 1.807e+06

0.06

008 01 012 0.14

0.16

0.18 0.2
2y Mass (GeV)

Signal to Background

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

400 600

Channel Number



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) SI/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

&15 015 - 5
3t S S I
e o | 3 I
o | <= | 2 4
g | Sl g4
gt
3.14— io o [
&L o « = 3r
(3¢ o o ° 08%e%8 I &, E
L L4 L n 2'_ °
0.13r 0.005
I T N TN I T TR RN e
0'120 200 400 600 0O 200 400 600 0O 200 400 600
Channel Number Channel Number Channel Number
Pi0 Mass vs. Channel Number (lIterationl) Plo MaSS (|tel’ t|0n 1)
x10° Entries 2.750348e+09
%17 > 0 X2 /ndf 97037165
Q [} 18F Prob 0
816 =" PO 7.525¢+06
2 N~aab pl 0.134
F1 - 16f p2 0.007855
’ [ p3 4.403e+06
;14_— p4 0.01558
=2 I pS -2.24e+08
% 12F p6 5.978e+07
o L p7 2.851e+06
010_—
8f
6F T~
P PP EPRPR PRI APUPEPE SPRPEPE SR B

500 600 700 0.06 0.08 0.1 0.12 0.14 016 018 0.2
Channel Number 2y Mass (GeV)



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) SI/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

&15 015 - 5
o | O%O L S I
e o | 3 I
5 f
g 1 g [ g4
Sudf 3 g |
141 .0 [
QL « g 3r
® L
c L
e~ o M s _ St
)] L
- - 2_
0.13r 0.005
I T T T I T TR RN M B R B
0'120 200 400 600 0O 200 400 600 0O 200 400 600
Channel Number Channel Number Channel Number
Pi0 Mass vs. Channel Number (lIteration2) Plo MaSS (|tel’ t|0n2)
x10° Entries 2.712087e+09
> T X2 /ndf 9505/ 165
O 18 Prob 0
=t po 7.325e+06
,\16-— pl 0.1346
. [ p2 0.007886
o 1 4'_ p3 4.266e+06
; [ p4 0.01558
I = [ p5 -2.178e+08
A e :
: o [ Lp7 2.736e+06
o10p
8F .
P PP TR AU EPEPET APRT BT

100 200 300 400 500 600 700 0.06 0.08 0.1 0.12 0.14 016 018 0.2
Channel Number 2y Mass (GeV)
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